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Co-planarity of Two lines EDUCATIONAL GROUF

Two given lines be # = d, + Ab, and # = @, + ub, are coplanar if @, — d, is perpendicular to b; X b,
i.e. When (dz - al) (Bl X Bz) = 0

And the equation of the plane containing them is (¥ — d,). (El X Bz) =0

. ) x—x - zZ—z x—x - Z—Z )
In Cartesian form for two lines LY FTE e BT Y2 _ZT® are coplanar if
aq bj_ Cq as bZ Co
Xo—=X1 V2o—=V1 22— 7% X—=X1 Y= Z— 24
aq b, €1 = (0 and equation of the plane containing themis| a4 b, GG =0
a; b, o a; b, o

Note:- If the two lines are parallel then the two lines will be coplanar.
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) x—1 -2 z—3 x—2 -4 z—5
Show that the lines 5 === and =Y= = S-are coplanar.
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Plane Passing Through the Intersection of two Planes ==L,

The vector equation of the plane passing through the intersection of the planes F.ﬁl = d; and
F.ﬁz =d, is 7. (ﬁl +Aﬁ2) = d; + Ad, for the different real value of 4 representing a family

(system) of planes through the line of intersection of planes 7. ﬁl =d;andr". ﬁz =d,.

The Cartesian equation of the plane through the line of intersection of planes a;x + by + ¢,z = d;4

anda,x + b,y + ¢, =dyis (ax + by +c¢;z—dy) + A(ax + b,y + ¢, —d,) = 0.
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Find the equation of the plane through the intersection of the planes x +y +z+ 1 = 0 and
2x —3y + 5z — 2 =0 and the point (—1,2,1).
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Find the equation of the plane through the line of intersection of the planes 7. (Zf -3/ + 4@) =1

and 7. (i — J) + 4 = 0 and perpendicular to 7. (21 — j + ﬁ) +8=0
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Find the equation of the plane through the line of intersection of the planesx + y+ z =1 and

2x + 3y + 4z = 5 which is perpendicular to the plane x —y + 2z = 0.
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1. Find the vector and Cartesian equation of the plane passing through the intersection of the planes
ri+j+ ﬁ) =6and7. (20 + 3/ + 4@) = —5 and the point (1,1, 1).
2. Find the equation of the plane passing the line of intersection of the planes 2x + y —z = 3

and 5x — 3y + 4z 4+ 9 = 0, and parallel to the line x; Y3 _z=5

3. Show that the line of intersection of the planes x + 2y + 3z =8and 2x + 3y + 4z = 11is

_ _ +1 +1 +1 _ _ -
coplanar with the line xl === 23 . Also, find the equation of the plane containing them.

4. Question no 9,10, 11 from Exercise 11.3 from NCERT book.



0DNM=4»

EDUCATIONAL GROUP

I o i ok oo il

THANKING YOU
ODM EDUCATIONAL GROUP



